The Physics of Santa and His Reindeer

There are two billion children (persons under 18) in the world. BUT since Santa doesn't appear to handle the non-Christian, that reduces the workload to 15% of the total — 378 million according to Population Reference Bureau. At an average (census) rate of 3.5 children per household, that's 91.8 million homes. One presumes there's at least one good child in each. Assume that each of these 91.8 million stops are evenly distributed around the earth (which, of course, we know to be false but for the purposes of our calculations we will accept)

No known species of reindeer can fly. BUT there are 300,000 species of living organisms yet to be classified, and while most of these are insects and germs, this does not COMPLETELY rule out flying reindeer which only Santa has ever seen.

Santa has 31 hours of Christmas to work with, thanks to the different time zones and the rotation of the earth, assuming he travels east to west (which seems logical) and that he weighs 125 kg and that his sleigh weighs 400 kilograms his sack is magic and weighs only 20 kg. Calculate the following information.
1. How Far Santa Travels on Christmas Eve

2. How much time Santa has at each stop and between stops

3. Santa’s Average velocity from house to house

4. Rate of acceleration necessary needed to achieve speed in allotted time

5. Weight of Santa, sleigh and bag

6. Force needed to overcome static friction of sled on ice(ski on ice coefficient)

7.  Total  Reindeer force needed to move sleigh at proper acceleration(question 4)
8. Average force provided by each of Santa’s Reindeer(8 reindeer total)
